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The function g is differentiable and
g(x) = f1(x) for all x. What is the value
of g'(15)7
(15,3) e
a) -1/2 (b) -1/8) ¢) 1/6 d) 1/3

e) The value of g'(15) cannot be determined
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2. Let f be a djfferentiable function such that
f(3)=5,(f(8)=4) f'(3) = 6 and

F'(8) = 3

The function g is differentiable and

(x) = F'(x) for all x. What is the value
of g'(4)?

a)-1/2 b)-1/8 «¢) 1/6
e) The value of g'(4) cannot be determined

3. Let f be a differentiable function such that
(@6)=51(8)= 4,4'(3) = Band

f'(8)=3. m=b
The function g is differentiable and
g(x) = f1(x) for all x. What s the value

of g'(5)?

a) -1/2 b) -1/8 d) 1/3

e) Thevalueof g'(5) cannot be determined

4. Iff(2)=-3, f(2) = %, an

what 1s the equation of the tangent line to g(x)

atx = -3?

A) y-—2=%(x+3) B) y+2=§(x—3)

3 3
C) y2=2(x+3) D) y+3=2(x-2)

E) y-2= %(x +3)
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5. Kf(2)=-3,{(2)= ?, and g(x) = (x).

what is the equation of the tangent line to g(x)
atx = -3?

_v—2 = f( x+3)

C) y-2= %(x+3)

B) y+2=§(x—3)
4
D) y+2=7(x-3)

E) y-2= ?(x+3}

6. IEf(2)=-3, F(2) = ':f’-, s OOy = £,

what is the equation of the tangent line to g(x)
atx= -3?

‘a(y-z—f(ﬁs) B) y+3=§(x+2)
t?{y-Z:%(xH’x) X) y+2:§(x—3)
E) y—2=?(x+3)
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